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Answer Key & Worked Solutions 

Raffles Paper 

P6 Mathematics SA1 2018 
Paper 1 

Q1 Q2 Q3 Q4 Q5 Q6 Q7 Q8 Q9 Q10 

4 2 4 3 2 3 1 1 2 1 

Q11 Q12 Q13 Q14 Q15 

3 3 1 4 3 

Q16) 205 Q17) $748.80 Q18) 10.13 Q19) 5:15pm 
Q20) 

3
10

Q21) $2y 
Q22) 2

4
5
 m 

Q23) 24.5 cm2 Q24) 31 Q25) 7.5 km/h 

Q26) 99 days Q27) 0.8 kg Q28) 60 cm2 Q29) 14 ° Q30) 
a) False
b) True

Paper 2 

Q1. Betty’s stickers  x + x + 5 = 2x + 5 
Total stickers  x + 2x + 5 = (3x + 5) 

Q2. 100% - 15%  85% 
568 x 85%  $482.80 

Q3. 
1
4

+ 
1
4
  = 

2
4
  = 

1
2

36 + 36 = 72 

1 - 
1
2
  = 

1
2

1
2
 72

1  72 x 2  144 chicken pies

Q4. 3 + 3 = 6 
26 x 6 = 156 (total cost) 
156 – 90 = 66 (cost of volley balls) 
66 ÷ 3  $22 

Q5. 180° 4 x 3  135° 
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Worked Solutions 
Show your working clearly in the space provided for each question and write your answers in 
the spaces provided. 

6. Difference between adult and children’s ticket cost = 192 – 183 = $9

Total ticket cost of 5 adults and 5 children = 183 + 192 = 375
Ticket cost of 1 adult and 1 child = 375 ÷ 5 = $75

Child ticket cost = (75 – 9) ÷ 2 = $33
Adult ticket cost = 33 + 9 = $42

Ans:  $42 

7. Difference between savings of Fathin and Halim = 90 – 50 = 40

Number of days = 40 ÷ 0.80 = 50

Halim’s savings per day = 50 ÷ 50 = $1

Halim’s pocket money per day = 1 + 1.40 = $2.40

Ans:  $2.40 
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8. a) ∠GJK = 90 – 22 = 68° 

b) ∠GJF = 180 – 68 – 68 = 44°

Ans:  (a) 68° 
(b) 44°

9. Perimeter of quadrant =
1
4

 x π x 40 = 10π 

Perimeter of small semi-circle = 
1
2
 x π x 20 = 10π 

Perimeter of shaded part = 10π + 10π + 20 = 20π + 20 = 82.8 cm 

Ans:  82.8 cm 
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10. ∠ RST = 180 – 76 = 104°

∠ QST = 360 – 90 – 104 = 166°

∠ SQT = (180 – 166 ) ÷ 2 = 7°

Ans: 7° 

11. 1 hr 48 min = 1
48
60

  = 1
4
5
  = 1.8 hr

Arrival time of Jane = 1 + 1hr 48 min = 2: 48 pm 

Distance between Town A and B = 85 x 1.8 = 153 km 

Time taken by Ella = 153 ÷ 90 = 1.7 hr = 1 hr 42 min 

Departure time of Ella = 2hr 48 min – 1 hr 42 min = 1:06 pm 

Ans:  1:06 pm 
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12. Let number of beads each have = 18n

Number of beads in 1 packet of Ali’s beads = 18n ÷ 3 = 6n

Number of beads in 1 packet of Ben’s beads = 18n ÷ 6 = 3n
Number of beads in 3 packet of Ben’s beads = 3n x 3 = 9n

Number of beads in 1 packet of Devi’s beads = 18n ÷ 9 = 2n
Number of beads in 4 packet of Devi’s beads = 2n x 4 = 8n

1 pack of Ali’s + 3 packs of Ben’s + 4 packs of Devi’s beads = 6n + 9n + 8n = 759
23n = 759
n = 759 ÷ 23 = 33

Total number of beads they had altogether = 18n x 3 = 18 x 33 x 3 = 1782

Ans:  1782 

13. a)
Difference in volume between 30 cups and 6 cups = 1200 – 552 = 648 mℓ

Diffence in number of cups = 30 – 6 = 24

Volume of 1 cup of lemonade  = 648 ÷ 24 = 27 mℓ

b)
Volume of remaining syrup = 552 + 1200 = 1752 mℓ

Number of cups from remaining syrup = 1752 ÷ 27 = 64.888 ≈ 64 cups maximum

Ans:   (a) 27 mℓ 

(b) 64 cups
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14. AB = BC = 12 + 8 = 20 cm

AE = CD = 12 cm

DE = 102 – 20 – 20 – 12 – 12  = 38 cm

Area of lower portion rectangle of ABCDE = 38 x 9 = 342 cm2

Area of upper 2 triangles of ABCDE = Height x base = (12 – 9) x 19 = 57 cm2

Area of shaded figure = 342 + 57 = 399 cm2

Ans:  399 cm2 

15. a)
Increase of adults on second day = 880 – 640 = 240

Percentage increase = 240 ÷ 640 x 100 = 37.5%

b)
Number of children on first day = 1300 – 640 = 660
Increase in number of children on second day = 660 x 30 ÷ 100 = 198

Number of children on second day = 660 + 198 = 858

Ticket sales on second day = 880 x 120 + 858 x 70 = 105 600 + 60 060 = $165 660

Ans:  (a) 37.5% 
(b) $165 660
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16. a)
Let number of tarts at first = 5t
Number of buns at first = 7b

5t + 7b = 880 (1) 
2t + 5b = 550 (2) 

10t + 14b = 1760   (3) = (1) x 2 
10t + 25b = 2750   (4) = (2) x 5 

11b = 990    (5) = (4) – (3) 
b = 990 ÷ 11 = 90 

Number of buns eaten = 2b = 2 x 90 = 180 

b) 
Total cost of buns = 7b x 0.5 = 7 x 90 x 0.5 = $315 

Ans:   (a) 180 

(b) $315
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17. a)

Ratio of number of magazines in 6H to 6J  4u x 2: 9u x 3  8u : 27u

8u + 27u = 140

35u = 140

u = 140 ÷ 35 = 4

Number of pupils in 6J = 9u = 9 x 4 = 36 

b) 

66
2
3
 % of pupils in 6J = 66

2
3
 ÷ 100 x 36 = 24 

Number of magazines received by 24 6J students = 24 x 3 = 72 

8
9
 of 72 magazines = 

8
9

 x 72 = 8 x 8 = 64 

Number of pupils in 6H = 4u = 4 x 4 = 16 

Total number of magazines in 6H = 16 x 2 + 64 = 96 

Number of magazines each pupil in 6H had in the end = 96 ÷ 16 = 6 

Ans:  (a) 36 pupils 

(b) 6 magazines




